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SINDHI HIGH SCHOOL
PRE — BOARD EXAMINATION SA - 1I (2015-16)
SUBJECT:- ENGLISH

Class - X SET -1 Marks: 70
DATE:- Time 3 hours

No. of. Sides:- 04

Section A - Reading

1. Read the passage given below: (8)

1.

The Perfect Dog

In the summer of 1967, when I was 10 years old, my father caved into my
persistent pleas and took me to get my own dog. Together we drove in the
family station wagon far in to the Michigan countryside to a farm run by a
rough-hewn woman and her ancient mother. The farm produced just one
commodity dogs. Dogs of every imaginable size and shape and age and
temperament. They had only two things in common: each was a mongrel of
unknown and distinct ancestry, and each free to a good home.

. I quickly decided the older dogs were somebody else’s charity case. 1

immediately raced to the puppy cage. “You want to pick one that’s not timid,”
my father coached. “Try rattling the cage and see which ones aren’t afraid.”

. I grabbed the chain-link gate and yanked on it with a loud clang. The dozen

or so puppies reeled backward, collapsing on top of one another in a
squiggling heap of fur. Just one remained. He was gold with a white blaze on



his chest, and he charged at the gate, yapping fearlessly. He jumped up and
excitedly licked my fingers through the fencing. It was love at first sight.

4. I brought him home in a cardboard box and named him Shaun. He was one
of those dogs that gives dogs a good name. He effortlessly mastered every
command I taught him and was naturally well behaved. I could drop a crust
on the floor and he would not touch it until I gave the okay.

5. Relatives would visit for the weekend and returned home determined to buy a
dog of their own, so impressed were they with Shaun-or “Saint Shaun,” as I
came to call him. Born with the curse of an uncertain lineage, he was one of
the tens of thousands of unwanted dogs in America. Yet by some stroke of
almost providential good fortune, he became wanted. He came into my life
and [ into his-and in the process, he gave me the childhood every kid
deserves.

6. The love affair lasted fourteen years, and by the time he died I was no longer
the little boy who had brought him along on the summer day. I was a man,
out of college and working across the state in my first real job. Saint Shaun
had stayed behind when I moved on. It was where he belonged. My parents,
by then retired, called to break the news to me. My mother would later tell
me, “In fifty years marriage, I've only seen your father cry twice. The first time
was when we lost Marry Ann -my sister, who was stillborn. “The second time
was the day Shaun died.”

SET -1 PAGE -2

7. Saint Shaun of my childhood. He was perfect dog. At least that’s how I will
always remember him. It was Shaun who set the standard by which I would
judge all other dogs to come.

1.1 Complete the following statements: (6x1=26)

(a) The dog farm was run by........ccceeviviiiiiniiinnnen.n.

(b) The author did not want an old dog because ..............cocevveveveninnnen..

(c) He fell in love with the dog the moment the latter ................

(d) Shaun became so obedient that he ............................. until the author
allowed him.

(e) After visiting them their relatives wanted ................c.....c...

(f) When Shaun died even .......c.cocoeviviviiiniiinininininenenen.n.

1.2 Find words from the passage which mean the same as the following:
(a) Urgent request ( para 1) (b) falling ( para 3) (2x1=2)
2. Read the following passage carefully. (12)

Do you remember the last time you laughed out loud? For most of us laughing out
loud is an uphill task. More often than not people think that they have no time to
laugh. There are more important things to do. But if you ask Jean Leggett, the
Canadian founder of Bootcamp she’ll say you do not have anything more important



to do than just laugh. Says Sudha Chandra, who attended a bootcamp: ‘My life was
joyless. Hiring a laughter coach changed my perspective towards life. I learnt to
record my emotions and ensured that the four elements of joy — dancing, laughing,
singing and playing — helped to build an emotional reserve.’

The cynic in us may still think it is an exaggeration, but the fact is that we can be
taught to laugh more. Neuroscientist Jodi Deluca says it doesn’t matter shy you
laugh. Even in small doses, laughter improves the quality of life. You can condition
people to feel more positive as laughter opens up the mind and frees the creative
juices. It makes us more receptive to new ideas. The New York-based laughter
coach Beth Bongar says that since our everyday lives are full of stresses in her
classes on laughter she uses the ‘gibberish’ technique where everyone laughs by
using gibberish sounds. Such playful exercises help to reduce inhibitions and
shyness and convert simulated laughter into unconditional laughter.

According to the greatest laughter therapists laughter is a cathartic process which
helps rebalance the chemistry of emotions which can be keynote for healing.
Several researchers on the benefits of laughter in Japan have shown that laughter
therapy is an efficient, low-cost, medical treatment that cuts health costs.
According to their findings laughter is a stimulant that triggers energy inside a
person’s DNA, potentially helping to cure disease. When we are laughing with other
people, we share a sense of connectedness which in turn reduces loneliness. Says
comedian Vir Das: ‘When 3000 people laugh at me during my performance, even if I
have had a bad day, I feel joyful. Not everyone can be comedian, but we can all
learn to be more joyful.’

SET -1 PAGE -3
2.1 Answer the following questions in about 30-40 words. (4x2=8)

(a) Why do people hesitate to laugh out loud?

(b) How did Sudha Chandra benefit from her stay at laughter bootcamp?
(c) How does gibberish help people according to Beth Bonger?

(d) How does laughter help healing?

2.2 Do as directed. (4x1=4)
(a) The word ‘perspective’ in the passage means to .........cccccveeuveunvenneennn.

(i) look out of the window (ii) have an outlook on matters

(iii) stay outdoors (iv) look well on the outside

(b) The term ‘inhibitions’ in the passage means
(i) Outdoor structures (ii) an outside-inside look
(il) removing awkward ideas (iv) reluctance

(c) When we undergo a ‘cathartic experience’ we come out
(i) feeling cleansed (ii) becoming younger
(iii) more confident (iv) cat-like



(d) A ‘stimulant’ is something that
(i) enhances an affect (ii) reduces the affect
(iii) keeps something level (iv) increases the effect of the brain

Section B — Writing & Grammar
3. The roads in residential neighbourhoods are now being choked with cars of
residents who are using public roads as parking spaces. Write a letter (in about
100- 200 words) to the editor of the ‘City Alert’ newspaper, suggesting to the citizens
that they begin using public transport to office instead of individual forms of
transport. Cite suitable reasons for bringing about this change. Sign yourself as
Bhairav/ Bhairavi. You can take help from MCB unit ¢ Environment’. (5)

OR

India is a land of rich culture and heritage. Draft an article , in about 100-120
words on the topic, Heritage sites of India. You can take ideas from MCB unit
‘Travel and Tourism’. Sign yourself as Preeti / Preetam. (5)

4. Write a story in about 150- 200 words on the idea of ¢ My favourite citizen’.(10)

5. Read the following conversation between Ranjan and Ramesh and then
complete the blanks in reported speech: (3x1=3)

Ranjan: [ went to see a movie last night.
Ramesh: What is the name of the movie?
Ranjan: The bridge on the River Kwai.

Ranjan told his friend Ramesh that (a) . Ramesh asked Ranjan (b)
Ranjan said that (c)

SET -1 PAGE - 4
6. The following passage has not been edited. There is one error in each of the
lines. Write the incorrect word and the correction in the space provided.
(yz x 8= 4)

Incorrect Correct

(@) The blistering heat making Thursday
(b)  the hottest days of the season so far
() in various part of northern India. In most
(d) place the maximum temperature was recorded
() at 46 degrees C. There is also highest probability
H of delayed rains as the monsoon is yet to reaching
(g) Kerala. Dust storms will not bringing down
(h) temperatures as not western disturbances are expected

7. Do as directed. (3x1=3)
(a) Radha is not going to be available to take calls this evening.
(Change into a positive sentence.)
(b) The boy is likely to come for practice matches after the rain stops.
(Add a question tag to the given sentence)



(c) He was disputing the fact. (Change the voice.)

Section C Literature & Long Reading Text
8. Read the extract given below and answer the questions that follow:-

Higher and higher every day, (3x1=3)
Till over the mast at noon-

The Wedding — Guest here beat his breast,

For he heard the loud bassoon.

(a) What do the first two lines tell us about the weather conditions?
(b) Explain - “beat his breast’.
(c) What does the word ‘bassoon’ mean?

9. Answer the following questions in 30-40 words each: (4x2=8)
(a) Why is John’s wife angry? What does she decide to do?
(b) What was the news that Nishikanto Ghosh gave to Patol Babu?
(c) What do you understand about the traveller in the poem ’Ozymandias’
(d) Why does the poet decide to stand and wait till the snake has finished

drinking water?
10. Answer the following in about 120 words. (4)
“Everything that I've described is true virtually!” says the narrator. Even the title of
the story is “Virtually True”. Justify the statement of the narrator and also the title
of the story.

OR

What does Antony say in his speech? Why is it more effective than that of Brutus?

11. Anne wrote- “ That I love peace and quiet too, and have nothing for myself
alone, except my diary.” How important is the diary Kitty” for Anne?
OR

Draw a character sketch of Mr. Koophius. (10)

SINDHI HIGH SCHOOL
PRE — BOARD EXAMINATION SA —1I (2015-16)
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Class - X SET - 11 Marks: 70
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Section A - Reading
1. Read the passage carefully. (8 marks)
Speed breakers have sprung up all over our cities, making driving quite hazardous.
The traffic police have thus resorted to what they call life calming measures’.
Essentially a pedestrian friendly measure by traffic police, speed breakers have
become a source of a great agitation for most drivers. They have become a nuisance
because they are not built or installed according to guidelines. Also the choice of
spots for putting speed breakers is arbitrary and causes a lot of damage to vehicles
and poses a threat to people.
Essentially there are three types of speed breakers. Rumble strips are considered
ideal for situations where the speed needs to be brought down drastically. The
second variety, speed tables, are used where pedestrians and cyclists only, cross the
road. The third variety, transverse bar markings, are used where speeds have to be
brought down a little. The traffic police, which is the primary agency for identifying
the location and need for speed breakers, says that it recommends them on the
request of resident welfare associations, or in places which tend to be accident-
prone. The reality is that several speed breakers have come up which do not adhere
to the guidelines of the Indian Roads Congress, the primary body that guidelines on
the building of speed breakers.
According to the IRC, speed breakers may be built by providing a ‘rounded’ hump of
3.7 m width and 0.01m height for speed up to 25 kmph. These are to be used on
minor roads or where a minor road meets an arterial road or highway. Also, the
lesser the speed of the vehicles using the road, the shorter must be the width and
height of the speed breaker. For heavier vehicles, trucks and buses the humps may
be modified with 1.5m long ramps at each edge. Speed breakers can be repeated
over a section to keep speeds low throughout the stretch.
Unplanned or illegal speed breakers can be dangerous as they slow down
emergency vehicles, such as ambulances, police vehicles and fire trucks. Such
breakers can cause traffic congestion during peak hours. They increase noise
pollution as pedestrians are forced to slow down and vehicle parts break down due
to sudden stopping. These illegal hurdles also reduce fuel efficiency and increased
air pollution. The impact of a speed breaker can also be harmful for patients in
transit or senior citizens and pregnant women. Thus citizens should not build
these road blocks themselves.
1.1 On the basis of your reading of the above passage answer the following
questions: (6x1=26)
(a) Why have speed breakers become hazardous?
(b) What variety of speed breakers is put up for pedestrians and cyclists?
(c) How do the traffic police decide on the location of speed breakers?
(d) What is rounded hump?
(e) Give one reason why speed breakers can be dangerous.
(f) How do speed breakers cause air pollution?
SET - II PAGE - 2
1.2(a) Find the word from the passage which means ‘Life threatening’. (1x2=2)
(b) Find the Antonym of ‘Flout’

2. Read the following passage carefully. (12 marks)



1. The French made it their home for almost 300 years. They stayed on Reviera (the
ville blanche or white town, as this part is known) where neatly laid out streets
intersect at right angles, and the township is distinguished by a two kilometre long
esplanade which skirts the town.

2. Raj Niwas, the magnificent Governor’s mansion, is the palace like residence
where Duplex once lived. And along its side is a garden with a sculpture of Lord
Vishnu as the varaha avatar (boar incarnation) along with goddess Lakshmi. Here,
the government Park is resplendently laid out with flowerbeds and fountains, one of
them dating back to period of Napoleon III (1852-1870). The Botanical Gardens,
conceived in 1826, boast a variety of rare and exotic plants from India and abroad.

3. There still remains, in Pondicherry, an amazing French influence here simply
because Pondicherry has the largest number of French citizens outside of France.
The vestiges of French rule are all around.

4. High-roofed villas, tree-lined boulevards and even a war memorial in memory of
the French soldiers who perished in the First World War, a statute of Joan of Arc
and a monument called Place de Gaulle commemorating the French leader who
never wanted to let go of this Indian Territory.

S. But it is not just the French connection that draws people to this architecturally
stunning coastal town. There are over 350 churches, temples and mosques in
Pondicherry making it a virtual Mecca for the devout.

2.1 Answer the following questions in about 30-40 words. (4x2=8)
(a) Mention the French quarters of Pondicherry.

(b) Describe the premises of the Governor’s mansion.

(c) What vestiges of French rule are still visible here?

(d) Why is Pondicherry dubbed a virtual Mecca for the devout?

2.2 Choose the word which is closest in meaning to the words given below.

4x1=4)

(a) The word ‘intersect’ means...............cccceuveuuvvuneennnnn.. .

(i) a different faith

(ii) a different section

(iii) a place where two roads cross each other

(iv) a place where two towns cross each other
(b) ‘Grandly laid out’ means.........c.cccceevenenininnnnnn. .

(i) resplendently (ii) exotic

(iii) rare (iv) boulevard
(c) ‘to let go of something’ means ............cc...... .

(i) Frightening someone away  (ii) letting someone or something leave

(iii) taking something away (iv) holding on to something

SET - II PAGE - 3

(d) €A boulevard’ means ...........c.c........... .
(i) A street lined with boulders (i) a wide road
(iii) a road with fruit trees (iv) a road lined with trees



Section B — Writing & Grammar
3.
Write a letter to the editor of the ‘Environment and You’ newspaper about the
menace of food stalls being set up inside parks. Sign yourself as Mohita / Mohit a
concerned citizen residing in House No. 4 opposite Swadeshi Park, Elegant Road,
Kolkatta. You can take the help from MCB unit ‘Environment’. (5)

OR

The recent terror attack at Pathankot resulted in the martyrdom of army personnel,
which is a great concern for the country. Taking ideas from the MCB Unit “National
Integration’, draft a speech in about 100-200 words on the selfless sacrifices of the
armed forces in times of crisis. You are Pranjal / Pratima. (5)

4. Write a story in about 250 words on “It’s a holiday’. (10)

5. Fill in the blanks choosing the most appropriate options from the ones given
below. Write the answers in your answer-sheet against the correct blank numbers.
(Y2 x 6 =3)

A solar-powered plane will (a)............. flown around the world next year. The plane
(B)eeeninnnnnn. its inaugural test from Payern airport (c).......... Switzerland and returned
sagely (d)................ two hours. The plane (e)............. a two-seater aircraft (f)
............... of carbon fibre.

(a) (i) is (ii) be (iii)) am (iv) are

(b) (i) had (ii) has (iii) have (iv) have been

(c) (i) into (ii) at (iii) in iv) under

(d) (i) in (ii) into (iii) inside (iv) within / after

(e) (i) is (ii) am (iii) be (iv) are

() (i) make (ii) making (iii) made (iv) making

6. The following passage has not been edited. There is one error in each of the
lines. Write the incorrect word and the correction in the space provided.
(72x8=4)

Incorrect Correct
(a) In the investment world it is saying that small
(b) stocks of today, are big stocks of their future.
(c) The natural progression are for a small stock
(d) to grow to become mid-stock but then
(e) a large one. In India, company with a market
(f) capitalisation of less then Rs. 500 crores, could
(g) as small stocks. But this definition can change
(h) depending by the market condition .

7. Rearrange the following words to make meaningful sentences. (3)
(a) minister/Sanskrit/oath/office/of/fluent/the/in/the/took
(b) Hindi/oath/the/other/in/took/minister/an
(c) preferred/few/to/a/English/speak/of/in/them
SET - 11 PAGE - 4

8. Read the extract given below and answer the questions that follow:
‘Shall Caesar send a lie? (3x1=3)



Have I in conquests stretched mine arm so far
To be afraid to tell grey beards the truth?
Decius, go tell them Caesar will not come.’

(a) Who does T refer to in the above lines?
(b) What is the lie here?
(c) What does the speaker think about himself?

9. Answer the following questions in 30-40 words each: (4x2=8)
(a) What was Lavinia’s reaction when she saw the ghost in her husband’s room?
(b) What do you know about Patol Babu’s acting abilities ?

(c) Why was Sebastian in a coma and what did his mother think of his chances of
recovery?

(d) How did Decius Brutus interpret Calpurnia‘s dream ? Why?

10. Answer the following in about 120 words. (4)
The Rime of the Ancient Mariner is a Ballad. What does this ballad narrate?
OR
The poem ‘Snake’ has a religious and social theme. Explain.

11. Do you think Mr. Frank was protective and concerned about Anne? Discuss.
OR
Draw a character sketch of Margot Frank. (10)
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1. All questions are compulsory.



2. The question paper consists of 31 questions divided into four sections A, B,

C and D. Section-A comprises of 4 questions of 1 mark each; Section-B
comprises of 6 questions of 2 marks each; Section-C comprises of 10
questions of 3 marks each and Section-D comprises of 11 questions of 4
marks each.

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted.

SECTION A

1. If k, 2k - 1 and 2k + 1 are three consecutive terms of an A.P., then find value

of k.

2. Find the length of the ladder which is placed to a wall of height 12m
and makes an angle of 300 with the ground.

3. Find the probability of having two boy children from a family of two
children.

4. If the area of the circle exceeds the square of the radius by n , then
find the radius of the circle.

SECTION B

5. In the figure two circles touch each other at
the point C . Prove that the common tangent
to the circle at the point C ,bisect the common
tangent at P and Q.

6. In the given figure, there are two concentric circles with centre O and
of radii Scm and 3cm. From an external point P, tangents PA and BP
are drawn to the circles. If AP= 12cm, find the length of BP.
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7. Solve the quadratic equation 2x2 + ax —a2 =0 .

8. The first and the last term of an AP are 8 and 65 respectively. If the
sum all its terms is 730. Find its common difference.

9. The co-ordinates of the Vertices A,B and C of a parallelogram ABCD are

(1)

(1)

(1)

(1)

(2)

(2)

(2)

(2)



(2,7);(3,4) and (-2,3) respectively. Find the co-ordinates of the fourth

Vertex D. (2)
10. Find k such that the points (k,-2) and (4,3) are equidistant from the
Origin. (2)
SECTION C

11.Point R divides the line joining the points P(3,2) and Q(6,-7) such
that PR/PQ =1/3. If R lies on the line 3x-4y+ k=0, find the value of k. (3)

12. The sum of the squares of two consecutive multiples of 7 is 637. Find

the multiples. (3)
13. The sum of the 5th and the 9th terms of an AP is 30. If its 25th term
is three times its 8th term, find the AP. (3)
14. One card is drawn from a well shuffled deck of 52 playing cards.
Find the probability of getting. (3)
(1) a non- face card (2) a black king or a red queen

(3) a even numbered spade card spade

15. The angle of elevation 6 of the top of a light house , as seen by a person
on the ground is such that tan® =5/12 . When the person moves a
distance of 240m towards the light house, the angle of elevation becomes ®
such that tan @ = 3/4 .Find the height of the light house. (3)

16. In Figure, from a rectangular region ABCD with AB = 20 cm, a right
triangle AED with AE = 9 cm and DE = 12 cm, is cut off. On the other
end, taking BC as diameter, a semicircle is added on outside the region.

Find the area of the shaded region. [Use [[= 3.14] (3)
A B
D C

17. A solid cone of base radius 30cm. is cut off into two parts through
the midpoint of its height by a plane parallel to its base. Find the
ratio of the volume of the two parts of the cone. (3)
SET -1 PAGE - 3

18. Solid spheres of diameter 12cm are drop into a cylindrical vessel
containing some water and fully submerged. If the diameter of the
vessel is 36cm and water rises by 80cm, find the number of solid
spheres dropped into water. (3)



19. In Figure 5, ABDC is a quadrant of a circle of radius 28 cm and a
semicircle BEC is drawn with BC as diameter. Find the area of the
shaded region. [Use m=—]

(3)

20. A fez , the cap by he Turks, is shaped like the frustum of a cone. If its  (3)
radius on the open side is 10cm, radius at the upper base is 4cm and its
slant height is 15cm, find the area of material used for making it. [Use n=—]

SECTION D
21. The total cost of a certain length of a piece of cloth is Rs 200. If the
piece was Sm longer and each metre of cloth costs Rs 2 less, the cost
of the piece would have remained unchanged. How long is the piece
and what is its original rate per metre? (4)

22. Find the 60th term of the AP 8, 10, 12,...,if it has a total of 60 terms

and hence find the sum of its last 10 terms. (4)
7x+1 5x-3 3 -1

23.Solvef0rx:3(x+)—4(x )=11;x * - ,— (4)
5x-3 7x+1 577

24. In the figure, a circle is inscribed in a quadrilateral ABCD in which
B =900°. If AD=23cm, AB=29cm and DS=5cm, find the radius T’ of
the circle. (4)
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25. In the figure AB and CD are two parallel tangents to a circle with
centre O. ST is tangent segment between the two parallel tangents
touching the circle at Q. Show that L SOT=900. (4)

< »
< »



26. Construct an isosceles triangle whose base is 8cm and altitude 4cm
and then construct another triangle whose sides are % times the
corresponding sides of the isosceles triangle. (4)

27.A boy standing on a horizontal plane finds a bird flying at a distance
of 100m from him at an angle of elevation of 30°- A girl standing the
on roof of a 20m height building, finds the angle of elevation of the
same bird to be 459. Both boy and the girl are on the opposite sides
of the bird .Find the distance of the bird from the girl. A bird like

eagle always flies high. What is lesson we learn from eagle. (4)
28. Two coins are tossed once. Find the probability of getting. (4)
(1) two heads  (2) exactly one tail
(3) two tails (4) sum of probabilities of above three

29. If the points A (1,-2) B(2,3) C(-3, 2) and D(-4,-3) are the vertices of
A parallelogram ABCD, then taking AB as the base finds the height
of the parallelogram. (4)

30. A tent consists of a frustum of a cone, surmounted by a cone. (4)
If the diameter of the upper and lower ends of the frustum are 14m and
26m respectively, the height of the frustum be 8m and the slant height of
the surmounted conical portion be 12m, find the area of the canvas

required to make the tent. (Assume that the radii of the upper circular end
of the frustum and the base of the surmounted conical portion are equal).

31.A solid is in the form of a cone mounted on a right circular cylinder both
having same radii of their bases. The base of the cone is placed on the top
of the cylinder. If the base radius and the height of the cone be 4cm and
7cm respectively and the height of the cylindrical part of the solid is 3.5cm,
find the volume of the solid. (Taker =22/7) (4)
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1. All questions are compulsory.
2. The question paper consists of 31 questions divided into four sections A, B,



C and D. Section-A comprises of 4 questions of 1 mark each; Section-B
comprises of 6 questions of 2 marks each; Section-C comprises of 10
questions of 3 marks each and Section-D comprises of 11 questions of 4
marks each.

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted.

SECTION A
1. The first three consecutive terms of an A.P 3y — 1, 3y +5and 5y + 1, then
find value of ¥’ (1)
2. Find the length of the ladder which is at a distance of 12m from the
foot of the wall and makes an angle of 309 with the ground. (1)
3. There 6 white balls and 7 red balls in a basket. Find the probability of
picking a blue ball from the basket. (1)
4. If the circumference of a circle exceeds the diameter by = unit. Then find the
radius of the circle. (1)
SECTION B

5. In the figure two tangents AP and PB are drawn to a circle with centre O,
from an external point P. Prove that L APB=2L OAB. (2)

6. The length of a tangent from a point A, at a distance Scm from the

centre of the circle is 4cm. Find the radius of the circle. (2)
7. Solve the following quadratic equation for x: vV3x? + 10x —8v/3 =10 . (2)
8 The fifth term of an A.P. is 20 and the sum of its seventh and eleventh

terms is 64. Find the common difference of the A.P. (2)
9. Show that the points (1,1); (—2,7) and (3, —3) are collinear. (2)
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10. The coordinates of one end of a diameter of a circle are (7,9).If the
coordinates of the centre are (10,10).Find the coordinates of the other
end of the diameter. (2)
SECTION C
11. In a flower show, 40% of the plants are roses and rest are carnations. If %
of the roses and 1/10 of carnations are red, find the probability that the



flower plant selected at random is (3)

(a) Rose (b)Carnation (c)Red rose (d) A Red carnation
12. Solveforx: 2—1="-2 x=%0,-1 (3)
X x+
13. If S,,, denotes the sum of first n terms of an A.P., prove that
S12 = 3(Sg — S4) (3)
14. Find the probability that a number selected at random from the (3)
numbers 1,2,3,4,5,.....cc.ccue..... ,34, 35, is a

(i)Prime number (ii) Multiple of 7 (iii) Multiple of 3 or 5

15. The angles of depression of the top and bottom of an 8m tall building
from the top of a multi storey building are 300 and 459 respectively .
Find the height of the multi storey building and distance between
the two buildings. (3)

16. In Figure, ABCD is a trapezium with AB| |DC, AB = 18 cm, (3)
DC = 32 cm and the distance between AB and DC is 14 cm. If arcs of
equal radii 7 cm have been drawn, with centres A, B, C and D, then
find the area of the shaded region.

A B

D c

17. A hemispherical bowl of internal radius 18cm is full of water. Its
content are emptied in a cylindrical vessel of internal radius 12cm.
Find the height of water in the cylindrical vessel. (3)

18. Solid spheres of diameter 12cm are drop into a cylindrical vessel
containing some water and fully submerged. If the diameter of the
vessel is 36cm and water rises by 80cm, find the number of solid
spheres dropped into water. (3)

19. In figure.5, PSR, RTQ and PAQ are three semicircle of diameters 10cm,
3cm and 7cm respectively . Find the perimeter of the shaded region
[ Use m = 3.14] S (3)

P 7cm QWR
T
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20.The total surface area of a solid cylinder is 924 cm? . If the curved
surface area is 2/3 of its total surface area, find its radius and
height.(m=22/7) (3)

SECTION D

21. A man goes for morning walk daily. On a particular day he was late to start,
so he walked 1 km/hour faster than his usual speed and covered a
distance of 3 km in 15 minutes less time. Find his usual speed.

What is the importance of morning walk in daily life? (4)

22. In an AP of 50 terms, the sum of first 10 terms is 210 and the sum of its (4)
last 15 terms is 2565. Find the first term and common difference of the AP.

23. Find the value of p for which the quadratic equation. (4)
2p+ 1Dx? = (7p + 2)x + (7p — 3) = 0 has equal roots. Also find these roots

24. A quadrilateral ABCD is drawn so that «£D =900 ; BC= 38cm and
CD=25cm. A circle is inscribed in the quadrilateral and it touches the
sides AB,BC, CD and DA at P,Q,R and S respectively. If BP=27cm, find
the radius of the inscribed circle. (4)

25. Prove that that the opposite sides of a quadrilateral circumscribing a circle
subtend supplementary angles at the centre of the circle. (4)

26. Draw a right angled triangle in which the sides other than hypotenuse are
of lengths 6cm and 8cm. Then construct another triangle whose sides are
4 /3 times the corresponding sides of the given triangle. (4)
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27. The lower window of a house is at a height of 2m above the ground and
its upper window is 4m vertically above the lower window. At certain
instant the angles of elevation of a balloon from these windows are

observed to be 60° and 30° respectively. Find the height of the balloon
above the ground. (4)



28. A piggy bank contains hundred S0p coins, seventy 1 rupee coins, fifty 2
rupee coins and thirty 5 rupees coins. If it is equally likely that one of the
coins will fall out when the bank is turned upside down, What is the
probability that the coin. (4)

(i) will be a 1 rupee coin ? (ii) will not be a Rs.5 coin ?
(iii) will be a 50p or a Rs 2 coin.

29. In what ratio is the line segment joining the points A (6,3) and B (-2, -5)
divided by the X — axis ? Also, find the point of intersection of AB and
the x axis. (4)

30. A cylindrical vessel with diameter 10cm and height 10.5cm is full of water.
A solid cone of base diameter 7cm and height 6cm is completely immersed
in water. Find (4)
(i) Water displaced out of the cylindrical vessel.
(ii) Water left in the cylindrical vessel.

31. A bucket open at the top is of the form of a frustum of a cone. The
diameters of the upper and lower circular ends are 40cm and 20cm
respectively. If total 176000cm3 of water can be filled in the bucket , find

its total surface area. (use w =22/7 ). (4)
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(a) The question paper has 30 questions in all. All questions are compulsory.
(ii)) Marks are indicated against each question.



(iii) Questions from serial number 1 to 8 are very short answer type questions. Each
question carries 1 mark.

(iv) Questions from serial number 9 to 20 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

(v) Questions from serial number 21 to 28 are 5 marks questions. Answer of these
questions should not exceed 100 words each.

(vi) Question number 29 & 30 are map questions of 5 marks from History &
Geography. After completion, attach the maps inside your answer booklet.

1. Which treaty recognized Greece as an independent nation? (1)
OR
Who is the founder of the Hoa-Hao movement?

2. What are agglomeration economies. (1)
3. What is a single issue movement? (1)
4. What is an alliance or a front? (1)
S. Explain the term Democracy Reform. (1)

6. When was the consumer protection act enacted & R T I come into being? (1)
7. Why did the Indian government put barriers on foreign trade & foreign
investment . (1)
8. Name the Indian company taken over by Cargill foods. What did they
produce? (3)
9. How did Romanticism seek to develop a particular form of nationalist
sentiments during the 18th century? (3)

OR
Explain any three characteristics of the “Tonkin Free School”.

10. Why did the Industrialists participate in the Civil Disobedience Movement?
Explain any three reasons. (3)

11. Creating a feeling of nationalism was through reinterpretation of history.
How? Analyse. (3)

12. State any three merits of railways. (3)
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13.

14.

15.
16.

17.
18.

19.

20.

21.

22

23.

24.

25.

26.
27.

28.

29.

What efforts were made by the Government to stimulate the demand of Jute

in the market? (3)
Solar energy is becoming popular in rural and remote areas of India —
Explain. (3)
What are the functions of Political Parties? (3)
What do you mean by foundational challenge in Democracy? What values
can help to overcome this challenge? (3)
How do Pressure groups and Movements exert influence on politics? (3)
Differentiate between formal and Informal sources of credit . (3)
Why are rules and regulations required in a market place? (3)
The consumer redressal process is becoming cumbersome . Explain. (3)

How was the formation of nation-state a long-drawn-out process in Britain?

Explain. (S)
OR

How did Nationalism in Vietnam emerge through the efforts of different

sections of the society to fight against the French? Explain.

What is meant by Non-Cooperation? How did different social groups
participate in this movement? Explain with examples. (1+4)

Which is the most abundantly available fossil fuel in India. Assess the
importance of its different forms (1+4)

Describe the significance of tourism as a trade in India. (5)

In what ways does Democracy promote dignity and freedom of individual?
(S)

Mention the different ways how political parties can be reformed? (5)

What are the ways in which MNC’S make investment or control production .

(5)
How is credit at cheap and reasonable rates be helpful for a country’s
development? (5)

On the outline political map of India, locate and label the following using
appropriate symbols: (3)
A. Place associated with the demand for complete independence.
B. Place associated with peasants Satyagraha.
C. Place associated with the calling off of Non-Cooperation Movement by



Gandhiji
30 . On outline map of India (3)
(a) locate — Bassien oil field
(b) Rawat bhata nuclear power plant
(c) Identify the sea port marked on the map
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(a) The question paper has 30 questions in all. All questions are compulsory.

(ii) Marks are indicated against each question.

(iii) Questions from serial number 1 to 8 are very short answer type questions. Each
question carries 1 mark.

(iv) Questions from serial number 9 to 20 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

(v) Questions from serial number 21 to 28 are 5 marks questions. Answer of these
questions should not exceed 100 words each.

(vi) Question number 29 & 30 are map questions of 5 marks from History &
Geography. After completion, attach the maps inside your answer booklet.

1. Why did the Frankfurt parliament fail to achieve its goal? (1)
OR
Why did America decide to intervene in the Vietnamese Civil war?
2. When was the first jute textile industry established and where ? (1)
3. What is a general or generic movement? (1)
4. Who was the founder of Bahujan Samaj Party? (1)
5. Explain the term challenge. (1)
6. Suppose you buy a television which logo or mark you will have to look for &
Why ? (1)
7. What is Liberalisation ? (1)

8. Define SEZ ? How many countries of the world currently are the members of
WTO. (1)

9. Explain any three reasons for the conflicts in the Balkans. (3)



10.
11.

12.

13.

OR

Explain any three ways how school textbooks in Vietnam glorified the French

and their rule.
Explain ‘Gandhi’s Satyagraha’. (3)

Which were the two types of demands mentioned by Gandhiji in his letter to
Viceroy Irwin on 3 January 1930? What was the idea behind this? Why was
the abolition of the salt tax the most stirring demand? (3)

Write strategic importance of any three ports on the Western Coast of India(3)
In the early years, which two states had maximum concentration of Cotton

textile industries and why? (3)
SET - II PAGE - 2

14. Natural gas is a precious gift to India. Support the statement by giving three
Points. (3)
15. What are the challenges to Political Parties? (3)
16 Give three broad guidelines that should be taken into consideration while
devising ways and means for Political Reform. (3)
17. Differentiate between Pressure Groups and Political parties. (3)
18. List the functions of RBI. (3)
19. Explain any 3 rights of consumers. (3)
20. Describe some of your duties as consumer if you visit a shopping complex. (3)
21. Explain Italian unification. (5)

22.

23.

24.

25.

26.

27.

OR
Explain any five features of the ‘Go East Movement’ in Vietnam.

What are mini steel plants? Why is India not able to perform to its full
potential? (5)

Roadways have an edge over Railways. Explain. (5)

How does democracy produce an Accountable, Responsive and Legitimate
government? (5)

Differentiate between National Party and Regional Party. Write a short note on
Bharatiya Janata Party. (5)

What marked the beginning of the Civil Disobedience Movement? Why did the
different social groups join the movement? What were their ideals? Explain
with examples. (S)

Why is modern currency accepted as money ? What are the 2 main functions



of commercial banks? (5)

28. What steps have been taken by the government of India to attract foreign
investment? (5)

29. On the outline political map of India locate and label the following using
appropriate symbols: (2)

A. Place associated with the Jallianwalla Bagh tragedy.
B. Place associated with the indigo planter movement.
C. Place associated with the cotton mill workers protest.

30. On outline map of India (3)
(a) locate — Bhadravati iron & steel plant
(b) Murshidabad cotton textile industry
(c) Identify the software technology park
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14. Explain sex determination in humans with the help of a schematic diagram.
(3M”)

15. a) What are fossils? -
~ b) Mention the significance of fossils in tracing evolutionary relataon:hips. .

16. What happens if, ' G s S
a) The deer are removed from the food cham givenbelow. (3
Grass » Deer » Lions. ekt

l7 A student smmgmthe last row of the class-i'oam dbkicw il
the writing on the black board. o P, =
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a) Identify the four whorls in the figure.

b) State the function of th
amples of unisexual flowers.

e whorls

¢) Cite two ex

22. Give reasons for:
(a) The sky appears dark instead of blue to an astronaut.
(b) Light of red colour is used for danger signals.
Sky appears red during Sunrise & Sunset. . Vo 3
(¢c) The refractive indices of glass and water with respect 10 yvacuum 13
& 4/3 respectively. If the speed of light is glass 2x 10
(i) Vacuum (i) Water.

ar what type of mirror would y

% /s .Find the

speed of light in .
ou prefer to use for

(a) If you are driving a ¢

observing traffic at your back and why?
tive index?

ction for hypermetropia using

19
oy

(b) Which substance has very high refrac
(¢) Draw a ray diagram to show the corre
lenses. (5M)
24. There are two friends Shyam and Ram .One day Shyam’s father observes
that Ram has a pain in gums. Shyam’s father is a dentist. So Shyam advises
Ram to meet his father. Shyam’s father examines Ram’s mouth & teeth with
y chocolates & soft drinks.

the help of mirror & advises him not to eat too man

Ram follows the advice of dentist and takes care of his teeth.

(a) Which type of mirror is used by the dentist? -
(b) Name the phenomenon of light by which doctor is able to examine

Ram.
(¢) What value is shown by the doctor, his son and his son’s friend?

(ii) Draw a neat diagram to show a myopic eye.
(5M)

SECTION B:
Multiple Choice Questions

25 A student has to observe a permanent slide of binary fission in amoeba.
Find the correct sequence of steps given below for focusing the object under

a microscope.
a) Place the slide on the stage look through the eye-piece and adjust the

mirror to get proper illumination.

b) Focus the slide sharp using fine adjustment screw.

¢) Look through the eye-piece & raise the objective lens using coarse
adjustment screw till the object is focussed .

d) Look through the eye piece & move the slide till the object is visible

i) deba ii)abed ii)adeh iv)acdb (1M)

o
Y

26. Which of the following is a monocot? ' ¢
a)Pea b)Maize c¢)Gram |, d) Bean (1M)



25 p
“ [y Oor a ray Of‘ I 5
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1L p lelng lhrough a gli\SS slab, the lateral dlsplacemcnt was
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- asur as: e
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(a) AB (b) PQ (¢) CD (d) PR

a device X, by focusing the image

28. A student determines the focal length of
the figure below.

of a far off object on the screen positioned as shown i
The device X is a

a) Convex lens

b) Concave lens Screen

¢) Convex mirror g
d) Concave mirror / (IM)
| &0
29. In an experiment to trace the path of a ray of light passing through a

rectangular glass slab, the correct setting of the protractor(D) for measuring
the angle of incidence (L) and the angle of emergence (L) corresponds,
(1M)

respectively, to diagram is

(a) K &M
(b)K & N | |
()L &M K L
(d)L & N
M N
K |
=

P

30. Study the following diagram in which the path of a ray of light through a glass

prism as traced by four students A, B, C & D as shown. The correct diagram
(IM)

is given by the student. .

T g

B C D



A1 R{m adds acetic acid solution to solid sadmm hydmg@ﬁ C‘W 0!
observe that.
a) a white precipitate is obtained
b) a blue coloured solution is obtained
¢) a brisk effervescence of gas is evolved
d) the mixture turns milky.

5

32. Scum is the precipitate formed when soap reacts with ==--=-=---==--- in Wﬁfﬂ‘l‘
a) Calcium and Magnesium salts

b) Caleium and Sodium salts : ‘
¢) Magnesium and sodium salts ; _ s
d) Calcium and potassium salts R L1100 ]
33. Soaps are ) TS
a) more effective in soft water | R
b) less effective in soft water VALY R W
¢) more effective in hard water NS
d) can’t be used in soft water BTSSR

34. In an experiment using convex lens, a Student observed t
between the object and the screen is 80 cm, where the

same size as the object. What is the focal length of the le
for your answer. -







Xevoxedf
SINDHI HIGH SCHOOL
Il PRELIMINARY EXAMINATION (2015-16)

SET I
SUBJECT: Il LANG. HINDI

CLASS: X

DATE: & 121251

No. of Sides: 5

it @99 : 3 9o & aH 3 : 90
ISCEIE

(1)
(2)
(@)
. -.n'.. I

2~

T -0F H AN WS e — &, G, T3NT |
TR Wel & I o I o SANad © |
TG Ul Gg o Sal ShARM: ST |

Qg — <
Fefoied Tz & Tgst U8 T U3l % S ST | 12
TS G SR 3T & o S+ & Uar S o @ | Rre; gany & gut
AT T Ut 5% | B st T ot Eepd v & el @ E el
et s RIE a9 o forg RBrer Hewagut wE € | 3l i el e fe
H 2T, R H T SHOTL SAR T3 o Adrsl o3 Sl WdAdr o o 9gd user
T T & e o 0 | RIer & e S ed Sl forr o7 | F 98 9
o o T Afdew, enfifen wg wrifsier Seue o forg, Rrem ercmazass & | ool el S
¥ g Brer &Y o 81 off | ETeRdT Udte & - Sdadr U e &Y | e &

AT 2T SIS T FM0T F TR W ST & | 99 Shie Ifh Y@ 9 THISR &t

TRl ST TUST AT 8, W9 %his @Ieil § SiL SIS T 36T o & $76N
F oAl §— 99 BT & U [ohie; et 15 9 o Q-5 9% 9e9d i 5 Fahdl
2 | Tt 5197 BT & —Usn 91U WM i, Ueh SR A &1, U &ad U e et
qHE T | 39 91 &7 AT ol -Uah 3(TSTS, U = {33, T 741 4rg | Ui 3
¥ TR, Tofar 237 3 et 1w ek § st dar et g 2, w9 =i s g
YT W HE AT € WY | UHT A 2R Sa & €9 § | o e & ueid
T U7 Thhdl ©, ST Wrefar SMIT @ T Wal el o fRreyr & uwrd it ener & |
e o @ € i, e 7 aieniis Aee dva § 13 H @ aT
HEash =l FAfHAl Sl Tehsle [haT ST Hehdl 7 | TS Uah AT U107 & | 98
U7, TSI e a7g el 3, Wi AR ¥ | 98 U3—dog Ugdl s SO ¢ |
TS ! QAT sl ST T 747 7, T 9fe 98 FRem g ar 98 @t & smifer o
forT Sugw gfier Fel 91 QT | 9Rd SRR T WAl U o U agd-9
e @iet | Hie-frem, wg-Rer ud sHt=ia R gy off @l T e
e =7 TR Teer O e 9% T E | S ot off R s 77 = 2, e
fon BT 1RT | 9RA o WHeT T WaH Wewaqul IAIdl ST & T H g ol
g | T Tt o, S enft FReR €, S ued U8 i gemaw ¥ o g, S
AT AfHR TN T AT Faed & Avg & O SeEs @l | ’




A9ST S0 § B =S @ O T U ST ST B2
TS & T i § gt 3ife et 22

T 3 GETHT TUNT & (T i 22

AT sl Gl Tasdr ¥ fShad et 872

AN <37 & Jarel ¥ e srands gHes?

Qrerr foheaT wdie ¢ 2 forar |

frerr forerer garl T St 22

ST A chl Tl guiadr fohe T X 272

TS Har woft 22

e & for a9 sy o 22

IS @l e Tt W TR

12. YR WER ¥ FRerdr & seid @ Mem & o si—ar 1w, s 27

R gegaiar @ tga RE @ uzal & Wt St S | 4 g

SO B STHMET, & STHIE,

TEIAT 92T, et | a3y | 5
{UTT Sl HUT & SieT Siid O,
HET I T 7 @M,
&f3T & 9ga Tg 39 feig & |
AT IH gH G TS |

qaoT & STHMET, &R SIS |

9gd & T & 3S @l (R,

9gd & | © 9 I e,

T & et fhq Mo S |
IR BF T o 39 T o |
FScT oF STAMT, &R sl |

O 0o N o kW

s
=

o
A

wfa 7 3T S A T T[T 82
HT & JTEAR 1 S5 Tl 22
H B ST T 82

1. Y 7 9o & oL T ® E2
2. €T T G HY ST ST HehaTl ¢ 2
3. gUT &l ey ST wieT g2

4. 9T hEY SO ST 22

5. g g & ST wam@r Tar 2

6.

7.

8.



v

Qs - g

3 I U H I TN Sl WY FIST - 2

RamgaR 9 wRefia ST - 3

() # = § & & ool WA @ s ot | (et A )
(@) =1 9e Ui 97 AR off R B mar | (@ A 1)

()
\"

-

& WNE WA B TN U F T | (ST a7y W)

(@) Fwe =@ Twe o T il - 2
1) TNIqA 2) ST8m |

(@) A U SR HHE & 99 foifew - : &3

REETET & S

N TEA T GHER

TR JEY HIT — | 4

Y/

() A7 TN H & T & off |
(@) o ST At TS5 |

IX

M T S € f e sge Oy ey
(M) <H IS 7 A9 W TEr g & |
VI ﬁw%@a@ﬁﬁwmﬁﬁmwmﬁﬁq%wmﬁm— 2
() e §ier o | (@) T =g
QUg — T
Tl e R e & s AR - (2+2+1)

) ST T G U i =T SelleT 4
Q) TG o T R v off? S ST e S R
(T) V3B AT T ar?

5
g & T ¥ e I & T SR 9w s ST SN | FHEl 9 Eud 22
qasTs ¥ 2 Uil Us 3 SN W e Hife -

T gt =t uget 0@ T ur & S S — (242+1)
AR | 3§ 3R el < G s | fsft 3 @ F drer—ar e R
BT 21T &, SHRIT 98 STy awaneT & 3R S T T w e Ff 2T ¥ | e
AHT GH W & e aar et & | 2 off 2her o 92 & sl =7 2 =




Xl

Xl

Xill

~

e et of 72y W & HY & B ¢ | ¥ AN S SHragTaRdr s ATST—6
afar e o & oK Ioiad [R@d © | 99 86 ol 5= “Ufdead emsfsaiere
FHEhT SHHT TE@H S & |

T G 7 o T §@ el &1 T&1 3T, afcsh SAEgIRahdr &l aldl € | 3 wia
TRl T §@ B o7l &, 99 “Ufaeae smefeaiforel” & Siiad & emear
fY—efiY ge oI 2 3T Seht ATaRIRe TeIgeT & 31N S+ &l @ |

I e W Arar &1 IR ST @ |

%) 3y Wi 3 fsft & O o =7 Sie’ ghar 82

@) f=lt & 9 ¥ STEur &t 991g S @ 2

M) “Qfaeae nsfeafore” g wed 272

frer iR Tt & S AT - | (2+2+1)

&) AT il & fd § hid SUX T FT AT el &2

@) BT 9 Ha BT G & Al & 2
T) T W wGA e F o wiE T R it =t war 92 #

St @l f e TR @l e Sdid ST TIRT? TSl hiddl o STER 0 TE

?ﬁﬁ‘qi, - 5

A & § T e W SEs Sl T A & Sodle Tel aidr o, &4 ? e off T
i i ar off fSF SR 39 THer ST 31987 AW o2 SR Hied € HifT |
5

Qs — ¥

XIV Ry T Haha figell @ MR W 100 3= ¥ T If=os ™y - 5

@) gher & & B9
T g -
« T+ THET — Sad dF wEer  * GO Sl S
* ITHER

W) WA HE & WG ¥ 78

Haha fig -
* FIL 1 dard * T WIeA=h @I [daE « AT TON T o
M) M Sied ¥ Aarsa
Hang g -

* ITST hT AERGHAT « ATl W a@dl WAl 318 * THAA  * G



AV tﬁ%%mﬁﬁ@gﬁamé@aﬁﬁqmﬁa%wmﬁ@w%@q— 5
XVI @f@“’a@nﬁaﬁwﬁrwﬁ@mﬁ%wmh%@@wﬁ:wqﬁw%

XVl wﬁ#ﬁmaﬁwmﬁﬁwm%ﬁ@mﬁﬁmsﬁmﬁm

e,

B3



IIPRE BORD- 2015-16
COMMUNICATIVE SANSKRIT
Datc4” 02-16 Marks-90
Class X Time- 3hrs

TqUS:  H- ST eEey, 15

TUS: g - TEACHASIEH, 15

Tus: T - HATILHAERIOH 30

GUS:  H - UiSd- S, 30
SET- 11

QUG - STUSII ST,

[, srifofiaay sr=seq ufswn Weaus G&had St -

e S Sfrfarfemnfor syafr | -2 oRieh: Wit ST -
T DA AN TE | T TR SR WHE TeliEr | SRR
7 Tge smfa 9 9 559 9RfEE v, Wsﬁm‘qjmq@{dﬁl
SFeTee] SHICAR Too STl e | Fafag S| ARdsh: T
TATERR: TS Wiadd | 7 Shele SETOT S TS, STHHESMEY S
TRl T e, W 4 ST STE Taid § T TR O Tiaed Sy
e, et eaeEE: fasfr e Trewsr ufewr i Wi 99 IR
AT TR =0 i o ToT AFaH-T RIS i | 37d: Fe: 1o

‘1!!

SH: TIH HUEH ﬂéﬁﬁqﬁaﬁmw TehT: el TR 8d Thal: STt |

%. WehUeT I - 2
R. T Td THIEEh: Aiaad?
2. BER: H WE: TIVGT aidd?

3. POiEERA IR :- 2

o

QI O TN YRR R fo gefa?




2. e (WieTeres) foem fod waild?
3. TR ST foad -

2. 'FTEta 2 foraTie ShdusH SF=sard feer forad |

R. 'quT ST S A 3 HeAmueH, e W
3. ORI T 3 foRisug fehe?

. 'se: 2fa e foomey sFese fee fomd |

-

¥, I ST P GYfHd WIS Heha foEd |

11 ey uel afecn Teaua & STk -
hERRIeH e gaudie: |
TR T e SRR | |
%. WEHUSH ITRA :- |
%, FEIIHIGT: i TOM: Te=d?
R. T HAlH: TOT: FEA?
2. JUT IR TR -
R ARG T O i
3. Ve St STRH e foed -
2. T8 e 3l usw o TR UeH WIHH!
. IR T 33w ¥,
R =l rariee qusH T fee forad

. gk T 3.omgfiuEviven ¥ shERRIeHE
3. Sifcr: 39 = & T 9 SH:?
. @@ R. I 3. fEEm ¥, I
¥. 'sfEeTsiow o o gean: foaereg faq?
.3MERT Ve . a9 ¥. 1

TWUS: 79 - TEAHEHSRE



2
1. syert $ameT ol ey wfa e o6 foald | T uei fawn o g

T fomd - 5
‘
fafr:
TUgsieRomate,
AR (2) —--mmmmmmmee- l
T T3 WHH | U5 gised 98 3R(3)----------—- | 3 T (4] cor=rerenrn |
R I (o) I— MYeRH Tomaaa | 37 T W0 % 9l | 9adl
U D) - STTHET AN U T3] qiddm RO (7 Jomsmmaminanads I
g TS | qe(8)-—---sa Wwﬁwﬁimﬁmm
i R A o) —— ~-3T T AT -STSE o G | .
R ECIC0 1)) -
RHATHAT |

I, Y, SR, fwﬁr HFTET, FRA, SR, [,
FeMo-l, HAEFERUMA: X

IV, o veet fo EEO!IWWW o fomd - 10
' : TR LY W”@J '

i -
et 0 5 ™
M;,,‘_ﬁ =
s e




3

)

V snifehagarRy Taifmauey 9F s el e - 4
2. T ST I |
3. T Y YSRET a5 8 ATHeid |
3. STER HEINSTL: e |
¥, TR, & 9eERY_ |
V1.sniifohamarsy TEifharem e foug o Teiaeheds: o foad - 6

%, T TEEUERH e |
R. TIH & =UR + R. THYH: & =Uh:
3. T 9Ueh: o OH, . T o IO 9 A SHIE:

3. HioH IR T FO |

3. TAHIGH R. TUEHIGH 3. HIEHIGH, ¥ FARIOH
3. FH W8 S ST

. WFEH RS IS XA
¥, AR ST SRS JE: S|

. &l ol A R. T @ HelA

3 S8 Hol AT 4 % o HieaH,
4. Rt g '

. foa: U = . TG d Wil g

3. T o U = . qar 5 fUar ¥

€ o o A9 | S TSl
. TOY: 3. SOEAY 3. qOEA ¥, e

VI sreisiaarer TaiReaamt Sl et Seee forerear a1 S ST
foereur: T foed - 5
2. W + A q Hed RO W |
T WAl RWAEH AR, % IR
3. T AT TEvSHeRTE: SR Rt 59
Rt g i tag 3FEH WA TS




A
3. HEG AR & HIT: TG A |
. WREH 3. MO 3. WETEAN Y. TERAW
%. T + 3 Sicehl Ml |
IS R TSI 3. TR ¥. TS
4. T TR + I 3N 94 gRAT |
. HRHML R, HSHFT: 3. H]HIIT ¥, H<HIIH

Y S e

VIIL siioiady ey e - asume uew: Sfd: =mds: R foad
- 5

TR Teh GV, ATfeaE S |-
R A W e

N

¥, —---------- WS DT HEAG WA

4, TR & T e IR TSI Teh: Timenia: is: iR |

o £ o o

IspHYY, d#¥id, 9Idq, dE:,

IX. steiioradi- st 3fad: dememEs: oS [Ed - 5

1
1
;

X smiioRaaansey FEichdusy SRIEH 3R | Teaiaeheds: 3y 3wy o
ILEUSH e foEd - 6
?. 376 W&hd UIeAfd | (UieTq:, UeAH, UedE:, Uledid)

R. HH ud faw: dud) (wm, @i, @™, 9@
3. 70 BEY AN Aq oo |t (36, SEl, 9E:, SEW)




5
e (3T wfqsf, A, SR
. st o T e g (T, a@, qem:, dr)
'E\jfﬂ:_ W:ﬁﬁ]’%ﬁ%\ (ga:, e, o4, geam)

wUE: o - Ued-SEEET
XI. m%@ﬂwq%mwmwéqm -
aﬁaﬁﬁwﬁgmﬁwﬂﬂ-ﬁmﬁﬂ:ﬁmwzia@mﬁm
-@:HWW%W:WHWHW@W
W:ﬁ%%ﬂﬂﬁmq@ﬁ:l _
mwﬁnﬂa@mﬁﬁ@a Hifeq e e IR oy S SIS
wq@éﬁﬁsﬂwﬁﬁwa&aﬁfmnﬁ%ﬁﬁ%awwwm
W!WﬁﬁmW:W:Wﬁﬁiﬁﬁw;m 2

x.qgﬁmzqiaﬁi

1



o, b
fafer: - T
HIFT: - qummt@mgﬁﬁ:@mq@mm
| Wﬂmﬂzlaﬂﬁ@mﬂﬂm@gﬁm
L o ST -
3. WA A ' 1
2. ot At fepel, S §
2 o7 ST & A
Q.W‘ﬁl‘{ﬁ:* 1
2. SIOTE: WWW?
2

o s R AERE R S . TG
R. 'ﬁ#ﬁﬁmmm_mmj
o YO R, WA 3. A ¥ . TIShUT
3 el 2 e HA
3 @@H R R ¥IRH
X*WWWﬁ:msz:l
o, TR R. S 3. TRIAEH, ¥, T

é)aﬁ%@ﬂﬂqmw%@wmé@éqm:-
ST T G
& IR FERTOT T TR






3
ST <EOTE e G STTe: |
T TEsT HEl HEgT: TR

[

(L s g e e ()= Sram: 3T TERY

-~

e AL

2. U T TS SR W o A | | x
3. TREREEUST BiedrEl: 39 THETH|

3. = ST T ST E@f_’t@?ﬁm

«. e T AR e, ferer Fei |

. SHTSHTT U STTci ST |

XV, seifehadens SeTshAMaRol foud - 4
3. YEIEERUH THE mmmmzwqﬁﬁmnmam
@@%&aﬁm
2. frr=sm: ! ST, ST S T |
3. T T AR st st Tt Sl |
¥. o TR GASHH: 3



XV, Yaifraaemt sesrard o9 foad -

XEXXKEXXXKXXXXXXXX



